Purpose:

Take an empirical formula and go back
into a molecular formula for that
compound.

Give three different things to call this
molecule:

o
Its name: o) \I\&Ml\l\e

Its molecular formula: Nz W Y

Its empirical formula: N l Hq




THE NOTES TODAY ARE A SINGLE LONG STORY PROBLEM TO
ANSWER TODAY’S PURPOSE.

Everything with an orange line around it is part of this single
story problem.
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Convert each of the following into an empirical farmula: T usvdb wride o “one” bol

1. CO;Hg

ol

CoHsq

Col3

2. CgHy206 (fructose) C H O
3. C4H3,04 C GHB

4. NiHa

N H2

con  omt Hle aumber bae”
u({"\
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5. CH;0 (fonnaldehyde—na carcinogen) C HzO Cof. CHZOB

6. C;H40; (acetic acid — vinegar flavor) c HZO

7. Which of the compounds above have the exact same empirical formula? *5 and ’6 asd #Z-
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Key to understanding the cartoons on this sheet:

1 chlorine atom

1 hydrogen atom

1 oxygen atom

1 nitrogen atom 1 carbon atom
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8. How many atoms, total, are in this box? 27

9. How molecules are in this box?

q*ow
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10. What is the molecular formula of this compound?C3 u{:.

11. What is the empirical formula?

Tlere are

Of all the (o}0)
shapes in 0O X
this square, |O O
what X X
percent are
X's?

(o %
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13.What is the molecularmass of C;H1g?
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14.What is the empirical formula for a compound that has 69.94 grams iron and 30.06 grams of
oxygen? ——
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15. Bind the empirical formula of a compound containing 32.0 g of bromine and 4.9 g of magnesium.
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16/ What is the empirical formula of a carbon-oxygen compound, given that a 95.2 g sample of the

compound contains 40.8 g of carbon and the rest oxygelbh vﬁ'
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17.How many atoms, total, are in this box?

54

18.How many molecules are in this box?

19.The What is the moletixhx rmula of this
compound? _Q@Ns :

20.What is the empirical formula of this

compound? _eZN : H( OZ_




